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Q.No: 1 Sorghum and White peas are the examples of which among the following respectively?

2426882
SaR R Fhg HeX HAN: P 7 3 fead gamwww 82
Cereals, Millets
A
SIS, SORT
Millets, Rice
B
ORI, 4
Cereals, Pulses
C
3, Tt
Millets, Pulses
D

ORI, ST
Correct Ans : C

Subject : General Knowledge

Q.No: 2 After defeating whom Sher Shah declared himself as the ruler of India?

2426917
fFu®! M & a1g IR A A G S URd $I NS w9 fbar?
Humayun
A
T,
Akbar
B
3P
Jahangir
C
Wik
Shah Jahan
D
RG]

Correct Ans : A

Subject : General Knowledge

Q.No: 3 Which subject was not included in the Gurukul Education of Later Vedic Period?

2426937
IR e Fra @1 [P e ¥ $F a1 favg wmide 72 ure
Military Science
A
& fagm
Astronomy
B
et foRm
Ethics
C
Afcaar

D Sociology



TSR
Correct Ans : D

Subject : General Knowledge

Q.No: 4 Under the reign of which sultan it became clear that northern India would be a separate Kingdom (Delhi Sultanate)?
2426949

g Gear & IR H g WY oAl b It HURA Teh 3rem T4 (feeht Tewra) gm?
Qutb-ud-din Aibak

A
Fe-98-4H WE
Mohammed Ghori
B
Aigwre M
Iltutmish
C
oA
Balban
D
qefs

Correct Ans : C

Subject : General Knowledge

Q.No: 5 Which of the following is a fisher folk dance of Maharashtra?

2427005
i & § P W TR B AR A T 82
Koli
A
Bieft
Tamasha
B
qHRT
Povadas
C
TR
Lavani
D
Lcuil

Correct Ans : A

Subject : General Knowledge

Q.No: 6  Which of the following dance is South Indian equivalent of the famous Dandiya dance of Gujarat?
2427017

P & I o 1 T <o YR TR & uRis Sifsa @ ¥ wHbe 82

Thappattam
A

YWEH

MayilAttam
B

AfasEA

Kolattam
C

P

Therukoothu
D

Fegy

Correct Ans : C

Subject : General Knowledge



Q.No: 7 When did India participate in the Commonwealth Games for the first time?
2427498

HRA A Tgell §R AgHSe el # d Ui fer?

1930

1930
1934

1934
1938

1938
1942

1942
Correct Ans : B

Subject : General Knowledge

Q.No: 8  Who is the first Indian woman to win the Asian Games gold medal in 400 meters race?
2427503

400 Hiex I3 H U Jelt F1 Wl uew Siian ardl ggelt YR Afger $H g2

M L Valsamma

A
RERSEREL)
PT Usha
B
qR& 3w
Kamaljit Sandhu
(o]
P Y,
K Malleswari
D

F Al

Correct Ans : C

Subject : General Knowledge

Q.No: 9  How many routes are there through which India gets FDI (Foreign Direct Investments)?
2428888

W o T § AR 4Ra & FOI (W =it fFasry fyerar 82

Two
A

Q

Three
B

ikt

Six
C

EH

Seven
D

RG]

Correct Ans : A

Subject : General Knowledge

Q.No: 10 Sir Ludwig Guttmann is known as the father of which sport?
2430498

I ST TeHA 3 5 Qe & s F T F T A 82



A ulympic

fafrs
Asian Games
B
R |
Paralympics
(o]
Yufefies
Commonwealth
D

g i
Correct Ans : C

Subject : General Knowledge

Q.No: 11 Who holds the maximum stake in Regional Rural Banks?
2434048

i i Yot # waie fewier fred ue gt § 2

State government

A
g PR
Central government
B
F% IR
The bank itself
C
wd §F
Sponsored bank
D

R S
Correct Ans : B

Subject : General Knowledge

Q.No: 12 In which year was Bharat Bhawan inaugurated?
2441037

HRA HaA &1 Iguied by ayf foar mar ure

1974
A

1974

1978
B

1978

1982
C

1982

1986
D

1986

Correct Ans : C

Subject : General Knowledge

Q.No: 13 The Marathi Sahitya Academy in Madhya Pradesh is situated in -
2441052

T TR ¥ B mRrdt e srpred R @ -

Indore

@R

B Bhopal



A

Gwalior
c

R

Jabalpur
D

ST

Correct Ans : B

Subject : General Knowledge

Q.No: 14  Which of the following is NOT a book by Shri Sharad Joshi?
2441074

Frafafed # § &1 o wRe A ) e TE 82

Yatra Tatra Sarvatra
A

TP 7 A

Nadi Mein Khada Kavi
B

& # ggr

Ashok ke Phool
C

SF & T

Do Vyangya Natak
D

3 =i AeH
Correct Ans : C

Subject : General Knowledge

Q.No: 15 Which of the following forts is known as the Pearl amongst the fortresses in India?
2441353

frofafaa 8 ¥ $17 W feer URa § forel & I At & = § ST S 82

Gwalior Fort

A
IR 1 e
Raisen Fort
B
I 1 feber
Orchha Fort
Cc
3R e
Madan Mahal Fort
D

He Hed faa
Correct Ans : A

Subject : General Knowledge

Q.No: 16 Where is Chitragupta temple located?

2441373
e #feR wel R &2
Panchmarhi
A
LECrHl
Vidisha
B
fafe=n

C Khajuraho



QyrIgl

Bhopal

it

Correct Ans : C

Subject : General Knowledge

Q.No: 17  As per the India State of Forest Report (2019), what is the percentage geographical area of Madhya Pradesh that has forest-cover?
2441645

e We s Bivte RUE (2019) F 3UR, A Wex & fa wfowrd Hiiifers &7 & J9-91aR0 32

25.14
A

25.14

26.78
B

26.78

28.97
C

28.97

22.35
D

22.35

Correct Ans : A

Subject : General Knowledge

Q.No: 18 In which year was the Madhya Pradesh State Mining Corporation Limited established?

2441654

T R g G A fifies @t wie e af g8 @

1958
A

1958

1962
B

1962

1966
C

1966

1970
D

1970

Correct Ans : B

Subject : General Knowledge

Q.No: 19 The Madhya Pradesh Government has monopoly in -

2441667
T TR TRDR BT UBIIDR § -
Coal mining
A
Pt €
Diamond mining
B
ncag]
Fisheries
C
TS U
Petroleum products
D

Ueiferam S

Correct Ans : D



Subject : General Knowledge

Q.No: 20 Madhya Pradesh is the Tendu leaves producing state in India.
2441681
T TR HRA A AU SR I B
biggest
A
el w1
second-biggest
B
[SAEEEEE]
third-biggest
C
ERNEEEET
fourth-biggest
D

< g §@T

Correct Ans : A

Subject : General Knowledge

Q.No: 21 The porcelain filter is used to filter out specifically which causative agent:

2422807
TRfAT fheex 31 I fakiy w0 § e IR @i ) o & o e S §
Virus
A
qRY
Protozoa
B
LG EiGS
Bacteria
C
S
Aschelminths
D
whferder a1 AT

Correct Ans : C

Subject : General Science

Q.No: 22 Which among these is an exception in the case of water pollutants?

2422809
A UguS & AHA A SAH Y DH ITarg 8?7
Hydrilla
A
TRRy
Sewage
B
=
Oil spills
C
¥ e
Detergent water
D

fEeste arit

Correct Ans : A

Subject : General Science

Q.No: 23  Gita met a student and asked her to solve her geography question that says, “which planet holds the maximum water abundance?”. To this Gita answered-
2422811



K K@ B1A 8 THC SR G I @1 Wd §Q @)X D1 @G V1L P{AI § 192 "PI 1 YT A8 SH@® YIA1 X@adl 8771 QU@ GTX idl 1 1edl-

Earth
A
Neptune
B
Mars
C
T
Jupiter
D

e

Correct Ans : A

Subject : General Science

Q.No: 24  What are the diseases that spread through contaminated air, water, food or vectors (insects and other animals) called?
2422983

3 g1, e, e @ ATareet (S SR o TaRT) F A It A 1 Hean 82

transmissible diseases

A
e
epidemic diseases
B
AR A
infectious diseases
Cc
T T
contagious disease
D

T B SHRE
Correct Ans : C

Subject : General Science

Q.No: 25 Which test is used for the proper diagnosis of AIDS?

2422985
TEH ¥ e M F R v whemr o1 v fmar s 82
cT

A
cT
MRI

B
MRI
ELISA

c
ELISA
PET

D
PET

Correct Ans : C

Subject : General Science

Q.No: 26 Tuberculosis is caused by which pathogen-
2422988

& 3 {6 3y & gl 3-

Hepatitis virus

ReTEfRY aRY



mMycopacterium

tuberculae

AR
s

Entamoeba

histolytica

teapfar
s

Vibrio cholerae

fafsar Srert

Correct Ans : B

Subject : General Science

Q.No: 27 Rabi crops are grown in:
2428007

<&t B HHd IS Wl o

winter

wlf

summer

e

rainy

>

autumn

TG HBY
Correct Ans : A

Subject : General Science

Q.No: 28 Which of the following is an oil-producing crop?
2428013

Frofifea & § o1 t@ a0 SEke Hud §?
mustard, sunflower and peanut
A
e, o iR et
flax, cotton and jute
B
T, PUE 3R o
wheat, cotton and okra
C
olive, paddy and sunflower.
D

S, o IR ot
Correct Ans : A

Subject : General Science

Q.No: 29 Ethology is the study of:
2428776

TR T S

behavioural sciences

AR o



pnysical sciences

i g

biological sciences
C

Sifes faam

chemical sciences
D

N faTm

Correct Ans : A

Subject : General Science

Q.No: 30 Itis a group of one or more morphologically similar interbreeding individuals which are genetically distinct and reproductively isolated from others-
2428794

U5 TS U1 U@ 9 3ifid IS TY A GHM Hd:I6F T dId J3iRID 3T Uh THg ¢ Sl M T F S SR Tor- 9 A gRI F 3T 81 8-

species
A

yreiferi

cohort
B

T

family
C

RaR

kingdom
D

Rt

Correct Ans : A

Subject : General Science

Q.No: 31 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2428993
ptions.

Assertion(A):Sewage should not be disposed of in rivers or oceans before treatment.

Reason(R):Aquatic animals and species will die due to pollution.
P Fofafed gy § < Fu € O 3 0@ 3 aifimT ok g B "SR & wU F A9 501 T 31 1wt 3 A Sl ) aurigde Sig St @ 9k 3T e fasedt § ¥ uy @1 9 SW
SHHYT (A) : T 3T ITAR J vgd Al 1 AR H LY TG W ARl

FRUI (R) : ST Sfg TR YSIfadl Hguor & SR IR S

Both A and R are true

A

A R RN TAE

Both A and R are false
B

A 3R R 3 o §

A is true but R is false.
C

A 9§ AP R 3w B

A is false but R is true.
D

A 3 & AfH R T B
Correct Ans : A

Subject : General Science

Q.No: 32 Which one of the following is not the way to reduce air pollution at the individual level?
2428995

Fuffea # ¥ $1 Sl 'R R a0 UG 1 FH T $T ST T8 87



vwe snoula burn dry leaves, papers, ana garvage In tne open.

T G@ Tell, SIS AR HeR B GA H ST =@iRgl

We should grow more trees and also take care of the existing trees in our neighbourhood.

B

7 3l & i U5 T =T SR S S-S # Higg UST 3t i dmvie e feu

We should say no to crackers during Diwali to reduce the level of air pollution during the festival season.
C

o dier! & Han § 91g TN F TR B FH B0 Ry Rarht & IRM Terd B 1 He @iyl

We should use the bicycle more often for commuting short distances instead of bikes or cars.
D

o U G TP -9 & R 95 A1 $R F S99 Wb $1 3ifde gkt Hr 7

Correct Ans : A

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2428998 options.

Assertion(A):Electrical appliances such as air conditioners, refrigerators release volatile compounds.

Reason(R):Excessive use of these appliances can cause greater damage to the ozone layer thereby causing more pollution.
A Ffafed gy # <) F € i 3 @ 3 sifimyT ok R B "GRU” F w0 H A9 501 T B 1) 7 S Sl ) auriyde Sig Sl § 9iR T T fadedl # § uy &1 98 SW
SHHHYT (A) : faggd ST S TR SRR, Yheiver arwsha A Sigd §1

PR (R): 57 SUGRTI & Al ITAT A 3ol R 3 i JHar g Gl & P 1fe Tguu 81 a9 1

Both A and R are true

A

T 3R SR S T &

Both A and R are false
B

A 3R R S o §

A is true but R is false.
C

A ¥ & A R 3 R

A is false but R is true.
D

A 3 8 AT R TG B
Correct Ans : A

Subject : General Science

Q.No: 34 During stress conditions
2430042

is produced by certain species of Penicillium.

e Bt RufY & SR AR oo usfadl gR1__ Saied fbar o ®

Antibiotic
A
arifee qarsit
Penicillin
B
AR
Paracetamol
C
TR
Aspirin
D
uisite

Correct Ans : B

Subject : General Science

Q.No: 35



£43UU7 1 |Ne TIrst stage or coal Is

POA DI YIT RO ___ @

Octane rating

A
i e
Cetane rating
B
e e
Methane
C
=
Peat
D
e

Correct Ans : D

Subject : General Science

Q.No: 36 p - Qmeans Pis the father of Q
2422450 p_ Q means Pis the mother of Q
P x Qmeans Pis the brotherof Q

P+ Qmeans Pis the sister of Q

P * Qmeans Pisthe son of Q

P # Qmeans Pis the daughterof Q

How Aisrelated to Ein the expression A+BxC+D*E#F

P+Q& HY § T p,Qa&r Rard

P-QH AT & P,Q T AraT &
PxQ& HY & P, Q& 915 &
P+Qa&T HY & P,Q&T dgT &
P*Q® FTF P, QH A &
P#Q®H AT § P, Q# T &

Tholh A+BxC+D*EEF # A EY $¥ gdfoa &

Son
A
™
Son-in-law
B
LGS
Brother
C
urg
Father -in-law
D

TR
Correct Ans : D

Subject : General Reasoning

Q.No: 37 A is the father of B. B and C are siblings. But B is not the brother of C. C is the son of D. D is the mother of C. What is the relation between B to C?
2422472

A, B RIATRI B 3R C UE-9g §1 AT B, CH UE T RIC, DF GARI D, CH A1 1 B ¥ C F fig 7 Wajy 2

Father
A

o

Son
B

e

Brother
c

g

D Sister



EGkl
Correct Ans : D

Subject : General Reasoning
Q.No: 38 Find the wrong term in the series?
2422585

2,5,7,10,12, 14

gl B e W P Ul TL?

2,5,7,10,12, 14

10
A

10

14
B

14

12
C

12

7
D

7

Correct Ans : B

Subject : General Reasoning

Q.No: 39 Find the wrong term in the series?
2422605

2,5,12,27,54

el H ITed $HH BT Ul a2

2,5, 12, 27, 54

2

12

12
27

27
54

54
Correct Ans : D

Subject : General Reasoning

Q.No: 40 Find the odd word out.

2424510
ST eE BT T HIY
Rectangle
A
S
Square
B

i



v wuuuug

Uy

Parallelogram

TARR g
Correct Ans : C

Subject : General Reasoning

Q.No: 41 Find the number of triangles in the given figure.

2425644

9 erpha & Ays 3 G g Bk

15
A

15

14
B

14

13
C

13

12
D

12

Correct Ans : B

Subject : General Reasoning

Q.No: 42 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426291
NIMP : PLOR :: RTVX : ?

I SHER-THE HT TG X 91 R SHeR-Tg A S TR Fad § I G 31ER-TE, TS SHaR-hg I Wef 31

NIMP : PLOR :: RTVX : ?

vTXZ
A

VTXZ

TVXZ
B

TVXZ

TVZX
C

TVZX

svzx
D

SvzX

Correct Ans : B

Subject : General Reasoning

f22;"“2<23‘;31 Select the option /number which is related to 3rd number in the same way as 274 pumber is related to a
It number?
5:27%1:?



30 HEAT /aFeT &1 997 Y A Y TEA ¥ 3 IER FAOT § S gul FEAr ggelr
TEAT ¥ WA § |
5:27%1:?

4
Correct Ans : B

Subject : General Reasoning

Q.No: 44

el Select the option /number which is related to 31 number in the same way as 224 number is related to a

1st pumber?

4:28::2:7?

3H WEAT /e 1 99 H A A TEA § W TER FAOd ¢ A9 gH HEAT Tgelr
F&ar ¥ gEd g

4:28:1:2:7

2

12

12

8
Correct Ans : B

Subject : General Reasoning

Q.No: 45 In the given diagram, Triangle represents upper class people, Circle represents backward people and Rectangle represents literate people.
2426556

How many people are backward but literate?

fou g s &, fiye 3= & F il 1 wfafAiia e B, 99 feS &l &1 ufafiia Far 8 o) omrd R dntt &1 wfafafia aar 21

e A S A wer 82
A 8



9
B

9

5
C

5

6
D

6

Correct Ans : D

Subject : General Reasoning

Q.No: 46 From the given diagram, Find out how many Players play either Cricket and Football or both?
2426601

Cricket
. Players
9 4
8 6
417
2
3
f
Football

fRq T 3 @ 7 BT e Raas frdpe SR peaita a1 1 Berd 82

Y frerfa

10

10

17

17
15

15
Correct Ans : C

Subject : General Reasoning

Q.No: 47 Select the option that is related to the third term in the same way as the second term is related to the first term.
2429532
CEGI : IKMO :: LNPR : ?

39 Rwed &1 797 X o TR U A S TR FEa § S gu ug ued ug 9§ Fafa )

CEGI : IKMO :: LNPR : ?

RTUV
A

RTUV

RTVW
B

RTVW

RTVT
C

RTVT



RTVX

RTVX
Correct Ans : D

Subject : General Reasoning

Q.No: 48 T introduces U saying, “He is the husband of the granddaughter of the father of my father ,"How is related to U?
2429571

T, U 31 UR=d 9% $5a §¢ ST 8, 98 AR frar & o ot ot 1 ufd B, 9 U frw weR i 2

Son in law
A

qHIE

Father in law
B

K0

Sister in law
C

Rrex-g-af

Brother in law
D

SER-g-al
Correct Ans : D

Subject : General Reasoning

Q.No: 49 Which answer figure will complete the pattern in the question figure?

2433193
?
DI IR PR Uy MFTY F YRy B B2
?
A
B
o
D

Correct Ans : D



Supject : weneral Keasoning

Q.No: 50 Identify the figure that completes the pattern.

S
JLE
Al
g
-
o
=
>0
-
o
o
o

Correct Ans @ A
Subject : General Reasoning

Q.No: 51 Select the option that is related to the third number in the same way as the second number is related to the first number.

2434884
52:10::63:7?

34 Rpe &1 999 T N Rt T § S yeR Fefid § S gadt Wem, e Ten @ 9eild 31

52:10::63:7

9
A
9
18
B
18



Z/

45

45
Correct Ans : B

Subject : General Reasoning

81‘:;315728 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
If I score well, I will get admission
A. 1 scored well
B. I got admission

C. 1 did not score well

D. I did not get admission

3T T vy B BT FeA SR ITF G TR FUA &1 FUA BT B I I, T U HU 1 A R FUF F B, oiR @ F difbd T I8 F9A W B
IR T 3BT TR el §, ol Tof wasr fira o

A BT a1 @R

B. T3 o fird

C. 17 31 @R Tl foon

D. G Wa% g fArem

AB

AB

BA

BA
DA

DA
cD

cD
Correct Ans : A

Subject : General Reasoning

gi\‘l‘%;fo Given guestion has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
If one gets punished, one feels ashamed
A. One got punished
B. One did not get punished

C. one felt ashamed

D. one did not feel ashamed.

o g vy & g1 U SR IS T8 IR FUA 1 FYA! BT B G T, T8 T5d YA I Al g B B, 3R & YA Aifhd U I GBI FUA I U B
foreht &7 won ot < <nf et ©

A. T B or firch

B. &l &1 o el et

C. @ &I v meug g

D. folt o <t T o

AC

AC
BC

BC
DA

DA

~n



CcD
Correct Ans : A

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440257 If university becomes autonomous, it will have more freedom

A. university became autonomous

B. university is not autonomous

C. it has more freedom

D. it does not have freedom

e M gy B g HF SR IS 916 TR HUF §1 HYH BT BT G A, T8 U5 HUT BT A g B W 7, R & FUA AP T § T FUT J W B
fasyferererm war 81 e & 39 IR oifde wadEar wra geft

A. fasfdere @ §

B. Tufmmen T T ¥

C. 0 3P WA ¥

D. ¥ adaal T §

BD

BD
BC

BC
DA

DA
DB

DB
Correct Ans : D

Subject : General Reasoning

Q.No: 55 Select the option that is related to the third term in the same way as the second term is related to the first term.

2441950
ROSE : ORES :: FILE : ?
34 fawed &1 797 X S TR Ug 3 U TER HEd § R TR g1 ug Ued ug ¥ W& § |
ROSE : ORES :: FILE : ?
IFLE
A
IFLE
IEFL
B
IEFL
IFEL
c
IFEL
IELF
D
IELF

Correct Ans : C

Subject : General Reasoning

Q.No: 56  Simplify: 50-12+3 x4
2422335



WA BT 50-12+3 x4

32
A

32

34
B

34

49
c

49

37
D

37

Correct Ans : B

Subject : General Maths

Q.No: 57 - Simplify: 82 — [63 + {42 - (19+7-2
Siuseg Smplify [63+{42-( )]

WA B 82— [63 + {42-(19+7-2)}]

70
A

70

75
B

75

64
C

64

65
D

65

Correct Ans : C

Subject : General Maths

Q.No: 58 Kuldeep deposited Rs.6550 with a finance company for 2 years at an interest of 6% per annum. What is the compound interest that Kuldeep gets after 2 years?
2423597

FAT A TP 3T F F IR 6% U 9§ & s W 2 T & ¢ 6550 TUA A U padia w1 2 9 a1 e gwmafs s e 82

Rs.97.20
A

Rs.97.20

Rs.277.30
B

Rs.277.30

Rs.809.58
Cc

Rs.809.58

Rs.761.358
D

Rs.761.358

Correct Ans : C

Subject : General Maths

.No: 59 R < . . . 1,,
2423512 Sita took a loan of Rs.18500 against her insurance policy at the rate of 135% per annum. Calculate the

total compound interest payable by Sita after 2 years.



T 3 T 18500 S T 1329 T G & Y AT Gifored & Fomes vt foram) el g@wT 2 af
1E & Frel Thq & STl T T0TAT Y|

Rs.7579.2681

Rs.7579.2681
Rs.5332.1625

Rs.5332.1625
Rs.1285.1260

Rs.1285.1260
Rs.3020.821

Rs.3020.821
Correct Ans : B

Subject : General Maths

Q.No: 60 Solve:

2428577
[81 +9+250f 5-10x 10+ (225 +5-196 +4 + 10 x 3)]
ERERE
[81+9+5P125-10 x 10 + (225 + 5-196 + 4 + 10 x 3)]
35
A
35
42
B
42
43
C
43
60
D
60

Correct Ans : D

Subject : General Maths

Q.No: 61 The annual rainfall in Vidarbha in five years is given below. What is the average rainfall for those 5 years? 900 mm, 650mm, 450 mm, 733 mm, 400 mm
2432517

e F aiffe auf oig o & =) fan man 31 ol @ @ S 5 anf &1 2 900 fireh <fiex , 650 fireh efier , 450 et dher, 733 fircht <fiex, 400 frelt cfiex

626.3
A

626.3

626.4
B

626.4

626.5
C

626.5

626.6
D

626.6

Correct Ans : D

Subject : General Maths

8;’13;:56323 Find the value of (35)° + (10)



(35) + (10)} T A J1d B

42574
A

42574

40380
B

40380

45440
C

45440

43875
D

43875

Correct Ans : D

Subject : General Maths

Q.No: 63 If the sum of two numbers is 9 and the sum of their cubes is 171 then find the sum of their squares.
2434733

Tfe; <1 TRemall B AN 9 § a1 9% =l H1 AT 171 § A 3% @ &1 4T 1 i

392
3
A
392
3
371
3
B
371
3
412
3
C
413
3
36=
D
36+

Correct Ans : A
Subject : General Maths

Q.No: 64 . 1 M
2434763 XT-—==14 x¥ - =
If X , then value of x* s
NN SR NCR.
gfe ™ X ELd T X dIAFE
346
A
38
18
3
B
18
S



0
el

32

32

Correct Ans : C

Subject : General Maths

Q.No: 65 If a shopkeeper gets profit on selling a stationary is 20% of the selling price, what is real profit percent gained by shopkeeper?
2435208

I fpft gHTRR BT LI S99 R fashd el $T 20% TH WK Gl 8, THMGR §RT U IRafad arH Ui i iforg?

25
A

25

30
B

30

20
C

20

50
D

50

Correct Ans : A

Subject : General Maths

Q.No: 66 Ankit sells a tablet to Amit at a gain of 8%, Amit sell a same to Saurabh at a gain of 12%. If Saurabh pay Rs. 12,096 for it then find the cost price of tablet for Ankit?
2435228

Siferd J S BT 8% F WY J T3AT 41, SHFA ¥ IRY BT 12% & T4 W 5911 A IRH 3 3TF T 12,096 U &1 I faan @ siftra F g Tadie &1 ava Ied 1 Piforg?

10,000
A

10,000

12,000
B

12,000

8,000
c

8,000

7,000
D

7,000

Correct Ans : A
Subject : General Maths

Q.No: 67 'Buy three, get one free.' What is the percentage of discount being offered here ?

2435288
4 T, W T ga wdl ggi R e uiivd ge 3 v o ¥E 82
33.33%
A
33.33%
25%
B
25%
20%
c
20%

IR RRO/n



28.56%
Correct Ans : B

Subject : General Maths

Q.No: 68 Find the value of: 44 + 0.012

2437466
44 + 0.012 H1 HME J1d
120
A
120
264.56
B
264.56
700
C
700
344.98
D
344.98

Correct Ans : A

Subject : General Maths

Q.No: 69 4

2437486 = of group of children were boys, if there were 48 boys, how many children are there in a group.

el o g 1 9 3, 3G 48 T 4, M U Wi A vl o

as
A

a5

50
B

50

60
c

60

70
D

70

Correct Ans : C

Subject : General Maths

Q.No: 70 One orange cost five and half rupee and one kg apple costs Rs 40. then the total cost of one and half dozen of oranges and one and three-fourth kg of apple is
2437546

U YR BT AT 5.50 2T AR U fbaume Y Bl e 40 T & 13150 Goted Gl s?mz
UGB o AT 132

Rs 180

180 VU
Rs 129

129 w8
Rs 220

220 ¥qd
D Rs 230



23U ©uy
Correct Ans : B

Subject : General Maths

Q.No: 71 If in a symbolic language ‘BEAUTIFUL' is written *CDOGHIKMN' then ‘LEAF’ will be written in the same language as?

2422535
Tfe; fat wibfae umT & 'BEAUTIFUL' &1 'CDOGHIKMN' ferar S & f 'LEAF' It v # ferar sem forit?
NDOK
A
NDOK
KNND
B
KNND
ODNK
c
ODNK
DKON
D
DKON

Correct Ans : A
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘WORLD’ is written *GICMA’ then ‘WORD’ will be written in the same language as?

2422565
e fpeft wihfae HT91 & * WORLD ' @1 ' GICMA' feran &g @ *WORD* &1 It w1 # fram smum fores?
LORD
A
LORD
ORLD
B
ORLD
ROLD
C
ROLD
GICA
D
GICA

Correct Ans : D
Subject : Mental Ability

Q.No: 73 In a row, A is 222 from the left end and B is 25% from the right end. When they interchange their

2425583 osition respectively. then B becomes 30% from the right end, then what will be A position from left
after interchanging?
T UfdkT #, A 91 BR F 228 WA R § R B Y BR J 258 WM W §1 91 I HAY: 301 VI 950 A ¢, 0 B T BR J 303 RIM W ) €, A RER S8 gqe & 918, 914 J A 3t fRufd
22
A
22
29
B
29
30
c
30
28
D
28

Correct Ans : B
Subject : Mental Ability



Q.No: 74 Identify the set for the word STAIN.

2426501

&% STAIN & fT U8t 99y &t Uga™ i

98175
A

98175

89483
B

89483

68194
C

68194

65478
D

65478

Correct Ans : D
Subject : Mental Ability

Q.No: 75 Ifin a certain language, UTENSIL is coded as WVGPUKN, which word would be coded as DMSFXG?

2426531

I v fAfda e &, UTENSIL 3 WVGPUKN & %0 & #1fSd foar 9t 7, < f5d 2sg &1 DMSFXG & &U 8 Sifsd famar smem?

BARED
A

BARED

BRAED
B

BRAED

BREAD
c

BREAD

BRADE
D

BRADE

Correct Ans : C

Subject : Mental Ability

Q.No: 76 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430216 tne given conclusions, if any, follow from the given statements. Indicate your answer.

Statement: Small age school going children in urban India have now become avid as well as more regular viewers of TV, even in households without a TV. As a result, there h
newspapers.

Conclusions:
I. Method of increasing the readership of newspapers should be impacted.
II. The team of experts should be sent to another country to study the impact of TV on the readership of

newspapers.

Frofeea wsil &, 3§ Fu @ Fspd 1, 11 BT SFIR0 IR § S1UD! Sl DAl TR bR &A1 g1, 4 8 3 SR W 91d aelil S wedia g9 @l| ot B fiw e st & afe; e 21 df 3t g

P TEdl URA A B S & WGd 91 a1 9= 3 Al F N S F Wy-u1y AR F oifie (o axie 51 T R, g8t 9% e A o o & ot Telioiaq, TR v wew! 3 e 7 1
ot

1. GARR W B! U3 HM g1 S e @l uHifae fbar s =gl

I1. ¥R Tl & U6@] R A & YHIT BT HTT S & fog [AAu:1 1 EH BT gaY o1 § Woll S =gt

Only conclusion I follows

el Py I SR BT §

B Only conclusion II follows



PG IPY LL SRR PRl &

Either I or II follows

A I 7 1T SRR el §

Neither I nor 1I follow

AR I AR T 11 TR BT ¥
Correct Ans : D
Subject : Mental Ability

Q.No: 77 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430245 the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: We know nothing except the facts of my rumors.
Conclusions:
I. The knowledge of writer's is too poor.

II. The knowledge is too vast to be explored by a single person.

Frofefaa vl &, < Sy S Ay 1, 11 31 SRR 67a 3 S1Us! 3F1 A R TR &1 81, 4 € 3 omdR W 31 a2l & wella 89 @il ot B Ry T s & ol fsed @ &t et 75

FY: B T HATEl & dul H Al $B TE S &1
e

1. UGS $T I 95 $H 8

11. U& Afdd gRT W 9 & e 311 aga fasma 31

Only conclusion I follows

A
e P T R0 e §
Only conclusion II follows
B
o FrepY 11 TR0 Sl &
Either I or II follows
C
U I 47 1T SR SRl §
Neither I nor II follows
D

T I R TR LI TR Bl §
Correct Ans : B
Subject : Mental Ability

Q.No: 78 In question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fro
2435458 conclusions logically follows from the given statements.

Statements:
1. Some apples are grapes.
II. Some grapes are onions.
Conclusions:
I. Some onions are apples .

II. No onion are apples

H fow Ty B 1 HuA SR IuF a1g 3§ e 18R 11 Ry U R St R U Syl Y e A ©, TR 3 Ra: 91d 9t & i el S €, snuet fofa dwen ? o fau e we § & B
1. $ 99 R T

1. $ R O gl

ey

1. $© U 39 ¢

11 3 w39 T

Only conclusion I follows.

Fad sy 1 SR Har Bl

B Only conclusion II follows.



Faa ey 11 SRR H3e B

Both conclusions I and II follows.

3l frsed 1 3R 1T SRR A B

Either conclusion I or II follows.

T & e 1 a7 X1 SrgERYn R B
Correct Ans : D
Subject : Mental Ability

Q.No: 79 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance with commonly known
2435518 follow(s) from the statements.

Statements:

I. All Maths are Physics.

II. All Physics are Chemistry.

II1. No Chemistry are History.
Conclusions:I. No Maths are History.
II. No Physics are History.

III. All Chemistry are Maths.

U T Hul vd P o1 eagde sier &) A8 A g 6 oAl F ) T THeR) I B, 4A € 98 W U 3 9l & m wlhd 81 7, 9 Fofa 3 i o fased T e Sy @ ade
FU:

1) @it T, e e 21

2) wolt e famm, war faam 21

3) ¥ T fa, sfaer 78 81

e

1. BT T, e T g1

11, %1 e famr, gherd i@t @1

111wt Y g, i 1

None follows

A

P TR T FA B

Only conclusion II follows.
B

et Fsp 11 IR et B

Only conclusion II and III follow.
C

Paq Frepe 11 3R LI ST R4 8

Only conclusion I and II follows.
D

Faet FIepy 1 3R 1T 3R F14 g
Correct Ans : D
Subject : Mental Ability

gi‘:‘gsﬁ)l In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
P>2Q<R=MR2=F
Conclusions:
I.M 2P
II.R >P

AT 93 &, FU=! & arg, fFeed 5T e §

U 9T YT & HUR R FFY &7 o0+ H A 379 3ec & F9 & 39gad faded F1 99 B
FuU:

P>Q<R=MR2F

foread:

I.Mz2P

ILR >P



A Only conclusion I is true

Faa e 1 99 ¥

Only conclusion II is true
B

Faq ey 1T TT ®

Either conclusion I or II is true
C

gafef I vas

Neither conclusion I nor Il is true
D

TASE I IRTH I TA T
Correct Ans : D
Subject : Mental Ability

gi\lacgssslz In the following question, the statements are followed by conclusions. Study the conclusions based on the
given statements and select the appropriate option as your answer.
Statements:
V2ZK>M=N
Conclusions:
LLVvz2M
I.V=N

TAFATRIT 9 A, FUAT & dIE, sy 6T 31T ¢

T 97T FHT & HUR W FomT & 3eager & AR 39 3ec & F9 & 39%ad fa@med &l 997 B
e

VZK>M=N

ey

LVzM

ILV=N

If only conclusion I is true

Faa e 1 9§

If only conclusion II is true

Faa ey 11 IA R

If either conclusion I or II is true

gafedroinsas

If neither conclusion I nor II is true

TAE I ARTH I TTR
Correct Ans : D

Subject : Mental Ability

Q.No: 82

2438501 N the following question, the statements are followed by conclusions. Study the conclusions based on the given

statements and select the appropriate option as your answer.
Statements:

L>M >N >P

Conclusions:

I.L>P

II.M>P

TFAfafaa 937 &, FY=T & arg vey 6T v §1

U T U= & TR 91 Ay &l JeTT & 3 379 3cck & §9 F 59gad faded $ adqeT B
FUA:

L>M >N >P

s

I.L>P

ILM>P

A Only Conclusion I follows



Pqe] ey L i g

Only Conclusion II follows

B

Faa P 1T I ¥

Either Conclusion I or II follows
C

T P 1A 11 W R

If both Conclusion I and Conclusion II follows
D

gfe; gt Frpy 1 iR Frepy 11 SrgeRer BRd ¥

Correct Ans : D
Subject : Mental Ability

Q.No: 83 In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true even if they seem to be at var
2439077 the given conclusion logically follow(s) from the given statements.

Statements:
Some exams are not objective.

No exam is descriptive.

A RT Ty F, A Fu P e fped #H 9R faded faT 1T §) e e T P! 1 IG AT 8, 1 B I qii | P wefia 810 €1 9 e 1 uige R qu @i 6 fag e fawe
F:

Fo we I T 8

PIS T IS T B

No objective is a descriptive

HIg Fg oieTe T

All objective are descriptive

Tt Se= i B

Some objective is exam

TO R W §

No descriptive is exam

1 qofTers wler T 81

Correct Ans : D
Subject : Mental Ability

Q.No: 84 Arrange the following words in a logical and meaningful order.
2442664

1. Learn

2. College

3. Degree

4. Admission

ul

. Assessment

6. Class

Frffaa el @ T aifbe Td srfqef o # sraf iR
1. i

2. A

3. feuit

4. g

5. TEIE

6. D&l

4,2,1,6,3,5

4,2,1,6,3,5
B 2,1,4,5,6,3



2,1, 4,9,0, 3

4,2,6,1,5,3

4,2,6,1,5,3
5,4,2,1,6,3

54,21,6,3
Correct Ans : C
Subject : Mental Ability

Q.No: 85 Arrange the following words in a logical and meaningful order.
2442673

1. Brass

2. Gold

3. Silver

4. Platenum

5. Iron

Faffea el @1 e afbe wa il o0 # sxafla i
1. diaed
2.9
3. =idt
4, Q™
5. el

3,1,5,2,4

3,1,5,2,4
5,1,3,2,4

5,1,3,2,4
2,1,5,3,4

2,1,5,3,4
54,321

54,321
Correct Ans : B
Subject : Mental Ability

Q.No: 86 A cistern can be filled by a tap in 9 hours and emptied by an outlet pipe in 13 hours How long will it take to fill the cistern if both the tap and the pipe are opened together?
2423751

T <Pl DY TP 0 §RI 9 HE H WRT I Thall § 3R TP 3MIedie gy gRT 13 ¥ & @relt faran 1 Sar g1 3 -1t SR urgy 1 a1 o 91 i fan o d <ot 31 4R & favaen g aimm?
117/4 hours

A
117/4 4
168/7 hours
B
168/4 He
123/5 hours
C
123/5 9
361/3 hours
D

361/3 W
Correct Ans : A

Subject : General Aptitude

Q.No: 87 If a train’s length is 120 m and it crosses a tunnel of 180 m. If the train’s speed is 10 m/s, then find the time taken by which the train crosses the tunnel.
2427292



SR IPRIT G P CISIG L2U HICR § IR 98 18U HICK @1 Y40 @1 UIR @)L 1 9HIX €7 @1 RYIS LU HICR § €1 3 XIHY @1 Ydl CHNY, 191k ¢ €A1l YIk oxdl 1

30s

A
30 ¥5g
20s

B
20 ¥
35s

C
35 ¥Fs
15s

D
15 Y5

Correct Ans : A

Subject : General Aptitude

Q.No: 88 Which of the following is divisible by 6?

2427587
Fofafed & & $1 6 9 Ry 22
1666
A
1666
2365
B
2365
9099
c
9099
7464
D
7464

Correct Ans : C

Subject : General Aptitude

Q.No: 89 The ratio between the no. of sides of two regular polygon is 2 : 3 and the ratio between their interior angles is 6 : 7. The number of sides of these polygongs are respectively:

2431320 ) gagysil 7 Yool 1 TBI 2:3 & U H § TUT I 3fc: DIV HT 3FU 6:7 § o IADT Yl F G HHL: ghft:

A s
B 812
c 10,15
> &5

Correct Ans : D

Subject : General Aptitude

Q.No: 90 If a train runs at 60 km/h, it reaches its destination 15 minutes late. But if it runs at 80 km/h. it is late by 7 minutes only. The right time for the train to cover its journey is:
2435972

I B 7 60 /o 3t iy F Terh ¥ @ 95 oA g W 15 e 28 F ugad 81 AP ofR 9w 80 /R @ 1Ry | Tt & < 97 Faw 7 e At 38 J ugud §1 27 B oo A g %R

18 minutes
A

18 fiFe

17 minutes
B

17 e

20 minutes
C

20 e

D 21 minutes



21 1H-c
Correct Ans : B

Subject : General Aptitude

Q.No: 91  The time for a train of length 110 meters running at the speed of 72 km/hr to cross a bridge of length 132 meters is—

2436000
72 foht. /der 3t vfq § 9@ areft 110 Hiex @t &7 F1 132 Hiex 99 Y@ $I IR A | {1 I0g T 2
9.8 sec
A
9.8 ¥FT8
12.1 sec
B
12.1 IS
12.42 sec
C
12.42 Y503
14.3 sec
D
14.3 ¥V

Correct Ans : B

Subject : General Aptitude

%"\'3%09122 A man travels %th of the distance of his journey by bus, ith by Rickshaw and 2 km on foot. The
total distance travelled by the man is:
g cafta o At A2 gl aw ¥, 2 R @ iR 2 Pl dow a9 e 1 39 cafra A @ fraeh anr A
12 km
A
12 fe.f.
18 km
B
18 f&.A.
20 km
c
20 f&. .
24 km
D
24 &

Correct Ans : D

Subject : General Aptitude

Q.No: 93 B starts 4 minutes after A from the same point, for a place at a distance of 7 miles from the starting point. A on reaching the destination turns back and walks a mile where he
2436049 5 3 mile in minutes.

TR g ¥ 7 e 3t g W R et M F g B, A F a0 & 4 fe a1g I farg & Tem 1 IRH TRl 81 T R Ugan & a1g A 1 g1 § 9k Ua i 9em & a1g B ¥ fireran 81 3 A,

il

9
A

9

12
B

12

10
c

10

8
D



LOmect ANs @ o

Subject : General Aptitude

21“3%09547 A can do 50% of the job in 16 days, B can do ith of the job in 24 days. In how many
days can they do ith of the job working together?
A Rt F1 & 50% s Y 16 ReeA # X e 8, B 3 Fa F 2 amr F 24 Al F 7w A {1
TF Y FA FA G FA 5 2 640 F Fraw R H | e
24
A
24
9
B
9
21
C
21
18
D
18

Correct Ans : D

Subject : General Aptitude

Q.No: 95  Shivangi can do a work in 6 days and 6 hrs, Soma can do the same work in 9 days and 9 hrs. Contract for the work is Rs.1948. How much shall Shivangi get if both of them w
2436125

et foreht w1 B 6 371 IR 6 W2 & R WHdl B, T IR FW I 9 A iR 9 6 T HR THe T FH HI G FA HT 346 1948 TIY F1 g1 A& S Uh TN HTH FHal 7, o Rrafft 3 foraa 2

779.2
A

779.2

389.6
B

389.6

1168.8
Cc

1168.8

1068.4
D

1068.4

Correct Ans : C

Subject : General Aptitude

Q.No: 96  The greatest number of 5 digits that is exactly divisible by each of 8, 12, 15 and 20 is :

2436138
5 3] I TH I VB FF g A 8, 12, 15 iR 20 H I 7dF A ofa: Ry B :
99950
A
99950
99940
B
99940
99980
o
99980
99960
D
99960

Correct Ans : D



Supject . weneral Aptuituae

Q.No: 97  The smallest number that should be added to 8212 to obtain a perfect square is :

2436140

e quf @f (perfect square) T & & 1T, 8212 # &1 Ht 9ad 91t Go1 Sigt o+ 1R

123
A

123

69
B

69

54
C

54

112
D

112

Correct Ans : B

Subject : General Aptitude

Q.No: 98 Out of three numbers, sum of half, the first number, one-fourth of the second number and two-third of the third number is 40. The sum of one-fourth of the first number, 1/6 ¢
2444521 25, What is the second number?
i el # useh Wem & o, gt Tl & tH-aE SR dest W & 1-faets o A 40 §1 Usel TR & Ue-didTs, TR TRl & 1/6 SR ekt Tem & Uh-[eTg 37 9 25 31 gud g

A5
B 1%
¢ 3%
° @

Correct Ans : B

Subject : General Aptitude

Q.No: 99  The sum of three consecutive odd numbers is always divisible by:

2444522 g gonrg fFve Semel o1 9 i A I fhue gri wea Rl g

A
B
C

D

NN a1yl Ww NN

Correct Ans : B

Subject : General Aptitude

Q.No: 100 What will come in place of *?’ in the following number series?

2444655
2,4,11,48,?
1 Femelt & ergmn # U 3% 2 & RIM W 0 S
2,4,11,48,7?
315
A
315
328
B
328
389
(o}
389
320
D
320

Correct Ans : C






